1. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal The Green [ Or some | Would not
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L

Q
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 277 160 268 206 250 750 225 351 154 41 55
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
201 29 41 18 84 19 10 68 27 44 50 50 151 201 - - - - - - -
The Conservative Party 20% 22% 36% 29% 22% 8% 14% 20% 17% 20% 31% 22% 19% 95% - - - - - - -
E* ADEF* EF* E * * * GHI NOT * o o o o *
276 40 27 12 127 47 22 84 44 82 56 58 218 - 276 - - - - - -
The Liberal Party 28% 30% 24% 20% 33% 20% 33% 25% 27% 36% 35% 26% 28% - 92% - - - - - -
* * * c * * * G MOT * *x wx *x *x *
129 24 20 10 64 7 4 33 25 32 28 30 99 - - 129 - - - - -
The New Democratic Party (NDP) 13% 18% 18% 16% 17% 3% 5% 10% 16% 14% 17% 13% 13% - - 86% - - - - -
EF* EF* EF* EF * * * MNT* o e o o *
48 - - - - 48 - 20 7 14 2 4 43 - - - 48 - - - -
The Bloc Quebecois (BQ) 5% - - - - 20% - 6% 4% 6% 1% 2% 6% - - - 87% - - - -
* * * ABCDF* * ] * N * *x *x *x *x *
54 7 7 2 24 14 1 21 8 11 7 9 46 - - - - 54 - - -
The Green Party 5% 5% 6% 3% 6% 6% 1% 6% 5% 5% 4% 4% 6% - - - - 96% - - -
* * * * * * * o o o o *
3 - - - 2 - 1 1 - 1 - 1 2 - - - - - 3 - -
People's Party of Canada * - - - * - 1% * - * - * * - - - - - 25% - -
* * * * * * * *x *x *x *x *
58 2 3 4 26 17 7 16 21 10 1 13 46 - - - - - - 58 -
Would not vote/None/Would spoil ballot 6% 1% 3% 6% 7% 7% 10% 5% 13% 4% 1% 6% 6% - - - - - - 99% -
* * * A * A* I * o o o o *
6 2 - 1 3 - - 2 * 3 1 2 4 - - - - - 6 - -
Other 1% 1% - 2% 1% - - 1% * 1% 1% 1% 1% - - - - - 54% - -
* * * * * * * *x *x *x *x *
1 - - R 1 - - - - 1 - 1 - - R R R R R R 1
None * - - - * - - - - * - * - - - - - - - - *
* * * * * * * o o o o *
225 30 15 14 54 87 23 87 28 30 16 56 169 11 23 21 7 2 2 * 158
Don't Know/Not sure 22% 23% 13% 23% 14% 37% 35% 26% 18% 13% 10% 25% 22% 5% 8% 14% 13% 4% 21% 1% 100%
* * * BD* BD* U * M* *x *x *x *x MNO*
1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



2. Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - S60K - $100K+ Kids No Kids The The Liberal The Green [ Or some | Would not
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Would
spoil ballot
A B C D E F G H | J K L

Q
Base: All Answering (unwtd) 168 18 12 25 41 a7 25 51 22 34 25 42 126 13 18 17 3 4
Base: All Answering (wtd) 224 30 15 14 54 87 23 86 28 30 16 56 168 11 23 21 7 2 2 * 157
11 2 4 1 2 * 1 5 1 2 2 3 8 11 - - - - - - -
The Conservative Party 5% 7% 28% 9% 4% * 3% 6% 5% 5% 1% 5% 5% 100% - - - - - - -
o o o o o e e e e o o o o o o o o o
23 2 2 2 13 1 4 7 * 4 3 6 17 - 23 - - - - - -
The Liberal Party 10% 7% 12% 11% 25% 1% 16% 8% 2% 13% 18% 11% 10% - 100% - - - - - -
*x *x *x *x *x wx *x *x *x *x *x *x *x *x *x - *x *x
21 8 1 1 10 * 1 8 1 7 1 7 14 - - 21 - - - - -
The New Democratic Party (NDP) 9% 27% 5% 5% 18% * 6% 9% 3% 23% 7% 12% 8% - - 100% - - - - -
o o o o o e e e e o o o o o o o e o
7 - - - - 7 - - 3 - 2 2 5 - - - 7 - - - -
The Bloc Quebecois (BQ) 3% - - - - 8% - - 10% - 12% 3% 3% - - - 100% - - - -
*x *x *x *x *x wx *x *x wx *x *x *x *x *x *x - *x *x
2 - - 1 1 * - * 1 - - 1 1 - R R R 2 R R -
The Green Party 1% - - 8% 1% * - * 5% - - 1% 1% - - - - 100% - - -
e o o o o e e e e o o o o o o o e o
2 - 2 - - - - 2 - - - - 2 - - - - - 2 - -
People's Party of Canada 1% - 13% - - - - 2% - - - - 1% - - - - - 82% - -
*x *x *x *x *x wx wx *x wx *x *x *x *x *x *x - *x *x
* N N N N * * * _ _ - - * _ - - - - - * -
Would not vote/None/Would spoil ballot * - - - - * 2% * - - - - * - - - - - - 100% -
o o o o o e e e e o o o o o o o o o
* - - * - - - - - - - - * - - - - - * - -
Other * - - 3% - - - - - - - - * - - - - - 18% - -
*x *x *x *x *x wx wx *x wx *x *x *x *x *x *x - *x *x
157 18 6 9 28 79 17 64 21 18 8 38 120 - - - - - - - 157
Don't Know/Not sure 70% 60% 43% 64% 52% 90% 73% 74% 76% 59% 52% 67% 71% - - - - - - - 100%
e o o o o e e e e o o o o o o o e o
224 30 15 14 54 87 23 86 28 30 16 56 168 11 23 21 7 2 2 * 157
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



1/2. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal The Green [ Or some | Would not
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L

Q
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 277 160 268 206 250 750 225 351 154 41 55
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
211 31 45 19 87 19 10 73 29 46 52 53 159 211 - - - - - - -
The Conservative Party 21% 23% 40% 31% 22% 8% 15% 22% 18% 20% 32% 24% 20% 100% - - - - - - -
E* ADEF* EF* E * * * HI NOT * o o o o *
299 42 29 14 140 48 26 91 44 86 59 64 235 - 299 - - - - - -
The Liberal Party 30% 31% 26% 23% 36% 20% 39% 27% 27% 38% 36% 29% 30% - 100% - - - - - -
* * * CE * CE* * MOT * *x *x *x wx *
150 33 21 11 74 7 5 41 26 39 29 37 113 - - 150 - - - - -
The New Democratic Party (NDP) 15% 24% 18% 17% 19% 3% 7% 12% 16% 17% 18% 17% 15% - - 100% - - - - -
EF* £ E* EF * * * MNT* o e o o *
55 - - - - 55 - 20 10 14 4 6 49 - - - 55 - - - -
The Bloc Quebecois (BQ) 5% - - - - 23% - 6% 6% 6% 2% 3% 6% - - - 100% - - - -
* * * ABCDF* * * * *x *x *x *x *
57 7 7 3 25 14 1 21 10 11 7 9 47 - - - - 57 - - -
The Green Party 6% 5% 6% 5% 6% 6% 1% 6% 6% 5% 4% 4% 6% - - - - 100% - - -
* * * * * * * o o o o *
5 - 2 - 2 - 1 3 - 1 - 1 4 - - - - - 5 - -
People's Party of Canada * - 2% - * - 1% 1% - * - * * - - - - - 42% - -
* * * * * * * *x *x *x *x *
59 2 3 4 26 17 7 16 21 10 1 13 46 - - - - - - 59 -
Would not vote/None/Would spoil ballot 6% 1% 3% 6% 7% 7% 10% 5% 13% 4% 1% 6% 6% - - - - - - 100% -
* * * A * A* I * o o o o *
6 2 - 2 3 - - 2 * 3 1 2 5 - - - - - 6 - -
Other 1% 1% - 3% 1% - - 1% * 1% 1% 1% 1% - - - - - 58% - -
* * E* * * * * *x *x *x *x *
1 R R - 1 - - - - 1 - 1 - - R R R R R R 1
None * - - - * - - - - * - * - - - - - - - - *
* * * * * * * o o o o *
158 18 6 9 28 79 17 64 21 18 8 38 120 - - - - - - - 158
Don't Know/Not sure 16% 14% 6% 15% 7% 33% 26% 19% 13% 8% 5% 17% 15% - - - - - - - 100%
* * D* ABCD* BD* U * * *x *x *x *x MNO*
1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



1/2. Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?/ Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - S60K - $100K+ Kids No Kids The The Liberal The Green [ Or some | Would not
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L

Q
Base: Decided Voters Leaners (unwtd) 839 107 91 78 308 184 71 221 137 237 190 216 623 225 351 154 41 55
Base: Decided Voters Leaners (wtd) 783 114 103 49 330 143 43 251 119 198 152 172 611 211 299 150 55 57 11 - -
211 31 45 19 87 19 10 73 29 46 52 53 159 211 - - - - - - -
The Conservative Party 27% 27% 44% 40% 26% 13% 24% 29% 24% 23% 34% 31% 26% 100% - - - - - - -
* ADEF* DE* * * * | NO * o o o
299 42 29 14 140 48 26 91 44 86 59 64 235 - 299 - - - - - -
The Liberal Party 38% 37% 28% 29% 43% 33% 61% 36% 37% 43% 39% 38% 38% - 100% - - - - - -
* * * B * ABCDE* * MO * *x *x *x
150 33 21 11 74 7 5 41 26 39 29 37 113 - - 150 - - - - -
The New Democratic Party (NDP) 19% 28% 20% 22% 22% 5% 12% 16% 22% 19% 19% 21% 18% - - 100% - - - - -
EF* £ E* E * * * MN* o e e
55 - - - - 55 - 20 10 14 4 6 49 - - - 55 - - - -
The Bloc Quebecois (BQ) 7% - - - - 38% - 8% 8% 7% 2% 4% 8% - - - 100% - - - -
* * * ABCDF* * * * *x *x *x
57 7 7 3 25 14 1 21 10 11 7 9 47 - - - - 57 - - -
The Green Party 7% 6% 6% 6% 7% 10% 2% 8% 8% 6% 5% 5% 8% - - - - 100% - - -
* * * * * * * o o o
5 - 2 - 2 - 1 3 - 1 - 1 4 - - - - - 5 - -
People's Party of Canada 1% - 2% - 1% - 2% 1% - * - * 1% - - - - - 42% - -
* * * * * * * *x *x *x
6 2 - 2 3 - - 2 * 3 1 2 5 - - - - - 6 - -
Other 1% 2% - 4% 1% - - 1% * 1% 1% 1% 1% - - - - - 58% - -
* * £ * * * * o o o
783 114 103 49 330 143 43 251 119 198 152 172 611 211 299 150 55 57 11 - -
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% - -
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



3. As you may know, Finance Minister Chrystia Freeland delivered the federal budget in the House of Commons on Monday. Based on what you have seen, read or heard about the budget, would you say that the budget overall is

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - S60K - $100K+ Kids No Kids The The Liberal The Green [ Or some | Would not
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L

Q
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 277 160 268 206 250 750 55
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 1 59 159
188 27 27 8 72 40 14 64 28 52 31 43 145 16 100 30 1 12 - 2 18
Good and you'd symbolically give it a thumbs up 19% 20% 24% 12% 19% 17% 21% 19% 17% 23% 19% 19% 19% 8% 33% 20% 20% 21% - 3% 11%
. . . . . . Mot Yo - - ™ - .
622 84 52 2 247 154 43 202 108 140 %2 125 497 104 178 105 33 34 5 29 115
Neither good nor bad and you'd symbolically just shrug your|
shoulders 62% 63% 6% 67% 64% 64% 64% 61% 67% 62% 57% 56% 64% 19% 59% 70% 60% 61% 2% 83% 73%
= . & 5 = = . ™ - - - - ™
190 23 33 13 66 s 10 66 26 34 39 54 136 o1 2 15 1 10 6 8 2
Bad and you'd symbolically give it a thumbs down 19% 17% 30% 21% 17% 19% 15% 20% 16% 15% 24% 24% 17% 3% 7% 10% 20% 18% 58% 14% 16%
. DF* . . . . i NOT . - - - - .
1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 1 59 159
sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/1,K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



4. Based on what you've seen, read or heard, do you think the budget will

REGION HOUSEHOLD INCOME HOUSEHOLD

Total BC AB Sk/mB Ontario Quebec Atlantic <$40K $40K - S60K - $100K+ Kids No Kids The The Liberal The Green [ Orsome | Would not
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Would
spoil ballot
A B C D E F G H | J K L

Q
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 277 160 268 206 250 750 55
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
94 13 10 4 37 25 4 36 16 24 13 18 76 19 41 9 3 6 - 3 14
Personally help you 9% 10% 9% 7% 10% 11% 7% 11% 10% 11% 8% 8% 10% 9% 14% 6% 5% 11% - 5% 9%
* * * * * * * o o o o *
786 109 85 49 290 196 57 249 124 177 126 171 615 140 245 127 50 41 6 44 132
Neither help nor hurt you 79% 81% 75% 79% 75% 82% 85% 75% 77% 78% 78% 77% 79% 66% 82% 85% 91% 73% 58% 75% 83%
* * * * * * M M* *x *x wx *x M*
120 12 18 9 58 18 5 47 21 25 23 33 87 53 13 13 3 9 5 12 13
Personally hurt you 12% 9% 16% 14% 15% 8% 8% 14% 13% 11% 14% 15% 11% 25% 4% 9% 5% 16% 42% 20% 8%
* * * * * * NOT * o o o o *
1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/I/J,K/LLM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



5. Do you agree or disagree that this budget puts Canada's economy on track to recover from the pandemic?

REGION

HOUSEHOLD INCOME HOUSEHOLD

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal The Green [ Or some | Would not Don't
<$60K <$100K Conservativ Party Party other party |vote/None/| Know/Not
e Party Party (NDP) (BQ) Would sure
spoil ballot
A B C D E F G H | J K L

Q
Base: All Respondents (unwtd) 1000 120 100 100 350 230 100 277 160 268 206 250 750 225 351 154 41 55
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
316 41 39 14 145 57 20 101 47 90 54 88 227 41 176 47 15 13 1 3 19
Top 2 Box (Net) 32% 30% 35% 23% 38% 24% 29% 30% 29% 40% 34% 40% 29% 19% 59% 31% 28% 24% 10% 6% 12%
* * * c * * * L MOT MT* o o o o *
48 6 3 2 22 13 1 25 1 15 6 19 28 5 29 8 2 * 1 1 1
Strongly agree 5% 4% 3% 3% 6% 6% 2% 8% 1% 7% 3% 9% 4% 2% 10% 5% 4% 1% 10% 1% 1%
* * * * * * L MT * *x *x *x *x *
268 35 36 12 123 44 18 76 46 75 49 69 199 36 146 39 13 13 - 3 18
Somewhat agree 27% 26% 32% 20% 32% 18% 27% 23% 28% 33% 30% 31% 26% 17% 49% 26% 23% 23% - 4% 11%
* * * c * * * MOT * o o o o *
443 66 47 34 149 112 35 171 70 82 56 76 367 80 107 63 28 24 5 37 99
Not sure either way 44% 49% 41% 55% 39% 47% 53% 52% 43% 36% 35% 34% 47% 38% 36% 42% 51% 43% 48% 62% 62%
* * D* * D* U * K * *x *x *x *x MNO*
241 27 27 14 91 70 12 60 44 54 51 58 183 90 16 40 12 19 5 19 41
Bottom 2 Box (Net) 24% 20% 24% 22% 24% 29% 18% 18% 28% 24% 31% 26% 23% 43% 5% 27% 21% 34% 42% 32% 26%
* * * * * * G NO N* e o o o N*
150 18 10 7 55 54 6 31 30 31 38 37 113 43 14 27 4 11 - 11 40
Somewhat disagree 15% 13% 9% 12% 14% 23% 9% 9% 19% 14% 24% 17% 15% 21% 5% 18% 8% 20% - 18% 25%
* * * B* * * Gl N N* *x *x *x *x N*
90 9 17 6 36 15 6 29 14 23 12 21 70 47 2 13 7 8 5 8 1
Strongly disagree 9% 7% 15% 10% 9% 6% 9% 9% 9% 10% 8% 9% 9% 22% 1% 9% 13% 14% 42% 14% 1%
* * * * * * NOT NT* o o o e *
1000 134 113 62 385 239 67 332 161 226 161 223 777 211 299 150 55 57 11 59 159
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used
- Column Proportions:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/},K/L,M/N/O/P/Q/R/S/T

Minimum Base: 30 (**), Small Base: 100 (*)
- Column Means:

Columns Tested (5%): A/B/C/D/E/F,G/H/I/1,K/L,M/N/O/P/Q/R/S/T

Minimum Base: 30 (**), Small Base: 100 (*)




